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Answer any FIVE of the following,
1.

Answer any FOUR of the following:
8.

9.

10.
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SECTION -A ¢y Libraiy
MANGALORE-375 0045x4=20)
gt G B e Objecti\’es d demerits of International Financial
Reporting Standards (IFRs), an

Summarize the:limitatisns. of Financial Statements.

Identfy the various objectTVES of financial statement analysis and
interpretation.

Outline the significance of Projected cash flow statement in decision making.
llustrate the Consolidated Financial Statement procedures as per Indian
Accounting Standard -21.,

Identify the various Inflation Accounting methods followed in an
organization.

Distinguish between Human Resource Accounting and Financial Accounting in
detail.

SECTION - B
(4%10=40)

Describe the benefits of Global Convergence of Accounting. Determine the

various challenges in the implementation of convergence of Indian
Accounting Standards with IFRS.
ABC Itd has made plans for the next year. It is estimated that the company
will employ total assets of ¥ 8,00,000, 50% of the assets being financed by
borrowed capital at the interest rate of 16% per year. The direct cost for the
year are estimated at ¥ 4,80,000 and all other operating expenses are
estimated at ¥ 80,000. The goods will be sold to customer at 150% of the
direct costs. Income tax rate is assumed to be 30%.
You are required to calculate
¢ Net Profit Margin
e Return On Assets
e Asset Turnover Ratio
» Return on Owners Equity
From the following balance sheet of Mars Ltd as on 31% March 2020 and
2021. You are required to preparé a) A Schedule of Changes in Working
Capital and b) A Fund Flow Statement.
[ 2020 2021 2020 2021
~5.00,000 |
Share capital 2,00,000 | 2,00,000 | Goodwill 24,000 | 24,000
‘ 36,000 | Bullding
General Reserve | 28,000 | 36/0 uilding 80,000 | 72,000
: 26,000 | Plant
Profit and Loss 32,000 | 26 ant 74,000 | 72,000
Al 10,800
Creditors 1@99__,,_,191%%—— Investment 20,000 | 22,000
Bills Payable 2,400 ___,1_9,;0-_ Stock 60,000 | 46,800
Provision for Tax | 32,000 ___§§J%%- Bills Receivable 4000 6400
Provision for 800 1,2 Debtors 36,000 | 38,000
Doubtful Debt | —
B EuEnrs mae Cash and Bank | 13,200 | 30,400
—— e [
Wﬁf’i 3,11,200 | 3,11,600
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11. Explain the ccol'nl?nq)

12. What is Hum
of Hurman Resource ACC

13. a) From the following déta
method (Assume FI 0

Whas
an pesource ) "hat
nuntmg

compute ¢y,

are the benefits and challenges

Cost ~¢
ISt of saleg a’fj jstment under CCA

r ; ) H(:Af; Prire Index
. lars " - = s
B o, 2020 {10,000
Purchases during 2020—5g70 ——+-. 30,000 |19
e I P TN | i il 9
Stoclwﬁfg%oﬂetaﬁ“"“l.‘z’-SQ-O- N S —
ca Working capital adjustment as

b) Fre llowing i
b) From the fo rent Cost AccOUnting ) system:

required under Cur 3 m.
Items L‘--—%Ee_cﬁglil 31 Dec,2020
Inventories - 75,000 | 3,05,000
Accounts Receivable ;‘356%00 2,75,000 |
Cash Balances ——T—=2,000 | 40,000
Advances for supply of materials —20.000 |"63750
1,25,000 ] 1,61,000

Accounts Payable —
The prices of materials N
10% during 2020.

creased by 15% ang those of finished goods by

secTION - € (Compulsory) (10)
14. The summarized balanceé sheet of RM Enterprises as on 31st March 2021 is
given below:
Liabilities Amount | Assets Amount
Equity Capital 40,00,000 | Fixed assets 28,00,000
Reserve and surplus | 6,00,0000 | Cash 2,40,000
Sundry Creditors 14,00,000 | Debtors 18,60,000
Inventories 11,00,000
60,00,000 | 60,00,000
L —_—
Other Information:
Sales [ 52,00,000
Less: Cost of goods sold 36,00,000
16,00,000 |
Less: Selling and Administration Expenses 12,50,000 |
Net Profit 03,50,000 |

Current industry average of important ratios given below:

Current Ratio 2l ]
Liquid Ratio s S 17 SN
Debtor Turnover 8.0 |
Inventory Turnover (Sales/Inventory) e
Net profit/Sales =~ ————1 0%
Sales/Total Assets ——————T" 2|
Calcufate the aboyg rop——— ———7-%s compare the same with the

alet € above ratjos for RM Entf?-.fPrisésl
industry average ang COmment priefly
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SECTION - A
Answer any EI_\L,E_ of the fﬂllowing: [5)(4:2[))
1. What is operating cycle? Why is it important? ST. ALOYS[1ic co
aen oD CULLE(
2. What do you understand by dey securitisation? MAN‘(;(AJ,](')‘;;:.:”" Ul
- =-575 0y 4

3. Whatare the different classes of 5, flows?
4. Mention briefly how collection tjme in banking system can be reduced.
List out the important reasons foy c,sh flow problems in an organization.

Write a short note on credit policy,

o o

7. The annual demand for an item ig 3200 units. The unit cost is X 6 and inventory
carrying charges is 25% per annum, If the cost of one procurement is 3 150
determine: a) Economic order quantity

b) number of orders per year
SECTION -B

Answer any FOUR of the following: (4x10=40)

8. Discuss the significance of working capital management in an organization? What
are the factors affecting working capital requirements of an organization?

9. Explain the various forms of working capital finance available from banks in

India.
10. The BODs of a company request you to prepare a statement showing the working

capital requirements for a level of activity of 1,56,000 units cf production. The

following information is available for your calculations.

Per Unit (%) |
Raw material 90
Direct Labour 40
Over head 75
Total Cost 205
+Profit __________62-—5
Selling price 265

Additional information:

. Raw material is in stock, OP
¢ onaverage for 4 weeks

average for 1 month.

I Materials are in proces

Il Finished goods are in stock, O @Verage for | \nopi,

IV.  Credit allowed by suppliers 18 1 month,

Contd...2
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. 4 Minim,

20% of output is sold again m e "
20% of outpul 18 ! Hon 1§ ¢ cash in hand & at bank is
uc 2 Carrja

r()d
3 60,000. Assume that P d on évenly throughout the year;

ue gimilarl?: &a g

; \ccr i ,
wages & overheads acC Period of 4 weeks is equivalent to a

month.

- t of @ com :
The annual cash l‘eqlllle'ncch of 50 Oi:)any IS X 10 lakhs. The company has
marketable securities it 10T S oG, R 1,00,000, % 2,00,000, % 2,50,000 &

, <ior: 0f Marketary ,
% 5,00,000. Cost of conversio table Sccurities per lot is ¥ 1,000. The

annual yield on its SeCuritjes,

- 1 table indicar: ;
pare d x tli esd’-lng Which Iot size will have to be sold
onomic lot size can be obtained by the

company can earn 5%
You aie required to pre I

tha
by the company. Also shoW

Baumol Model. =
o ; ith respg y
From the following partlculars w Spect tg g particular item of materials of a

. -alculate the best :
manufacturing company, c&i¢ quantity to order.

Order Quantity (tons) m &
Less than 250 : __@_0_‘___
250, but less than 800 ' 5.90

]

800, but less than 2,000 -
2,000 but less than 4,000

4,000 & above :
The annual demand for the material is 4,000 tons. Stock holding costs are 20% of

material cost per annum. The delivery cost per order is ¥ 600.
Explain the strategies in working capital management.

SECTION - C (Compulsory) (1x10=10)

X Ltd currently has an annual turnover of X 20 lakhs and an average collection
period of 4 weeks. The company proposes to introduce a more liberal credit
policy which they hope will generate additional sales as shown below:

F Proposed credit Increase in percentage of
policy collection Sales default
period by )
1 2weeks | 200,000 2%
2 4 weeks [ 2,50,000 3%
3 _ 6weeks | 3,550,000 5%
4 __Bweeks | 500000 8%

The selling price of the prodyct is X 10 and the variable cost per unit is X 7. The
current bad debt loss is 19, g the desired raté of return on investment is 20%.
For the purpose of calculatiop , year is to be taken 0 comprise of 52 weeks.
Indicate which of the above policies you would recommend the company to
adopt? Why? cles.J

Hok s o o K KKK
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Answer an
1.

y FIVE of the f()ll()\‘.\,lng

gimon an American came tq Ing 20" Dec. 2017. He was in India till 31*
ia on

january 2019 when he went t, canada: He came to India taking up an

employment in a British Concer, on 20" may 2019. He was sent to Japan for

06 months’ training on 1st November 5019. He returned to India after the
training on 01.05.2020. He 4 ( ansferred to Singapore Branch on 20%
August, 2021. Find out his residential status for the Assessment Year 2021-
22,

Discuss the provisions relating to cet-off and carry forward of losses.

Mr. Damodar retired on 15.06.200 from a manufacturing company after
putting service of 30 years .ang 7 months. He received a Gratuity of ®
3,60,000. Basic salary of Mr. Damgdar was ¥ 20,000 p.m. during 2019 and ¥
22,000 p.m. during 2020. He was also getting D.A. @ ¥ 5,000 p.m. which
was increased from ¥ 4,000 on 01.04.2020. 100% of D.A. is part of basic
salary for calculation of pension benefits. Compute his taxable gratuity, if he
is not covered under Payment of Gratuity Act, 1972.

Define the ‘Capital Gain’. Distinguish between Short-term ACapitaI gain and
Long-term Capital Qain. |

Write a note on taxable income under the head income from other sources.
On 1% April, 2020 thé Written down value of a block of assets comprising
twelve machines (rate of depreciation 25%) is ¥ 13,00,000. A new machine
falling within that block is acquired on 1% Nov, 2020 for ¥ 2,00,000. On 207
March, 2021 all the twelve old machines were sold for ¥ 1,00,000 leaving
only the newly acquired machine within the block. Determine tha amount of
depreciation. The assesse Is not entitled to additional depreciation on

machine,
From the following information determine the annual value of the house:
? R
Municipal value | 80,000
Fairrent 1,20,000
1,00,000

Standard rent
The house was self-occupied for four MONths and then let- -out (a) @

¥10,000 p.m. (b) @ ¥ 15, 000 p- m. Munlmpaj tax paid by the ownel
210,000.

I~
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of which enters retirem
received 2 1,50,000-
Compute taxable grat
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10. From the following profit
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(4x10=40)

jons OUEOf siy questions.

I p
; ues corvite ru 5o ing f
FOUB 9" om E1TI6C an 3y January 2021 after serving el

ceived ® Sratuity of 7 2,65,000. He had 09 meneis

i wh;jg 'L:((; encashed and received 2 2,20,000- HIS
= S

¢ 2 1% 20 and the jncrement of 7 500 fell due on

-

020 We° " 4 .
2 gt T:4/000 per month, whereas the rent paid for

r month.. DA was fixed at # 2,500 per month ot
t bencﬁts}, He commuted % of his pension and

xa
texaidle commuted pension, taxable leave

u !
House ReNt Allowan o

tions
exemPHONS Under the hoag capital gain?
and LO%S ACCount of Vineeth, ascertain the taxable

e
| 10,900 | Gross profi | 4,59,500 |
Cffice Salaries 5,000 Pro‘i:‘ 0 l? ( - 4,59,
Proprietors salary 72,000 | hoy t 0n sale of Residential
interest on capital 5,000 | Int, se _ 2,40,000
General expenses - ©2,000 [ pj ?('jest on Govt. Securities 5,000 |
Bad Debts 4,500 CW ends from Agricultural ‘
Advertiseinents Z,000 B?;npdmes 2,500
Fire Insurance Premium 4’000‘ - ;‘ debts recovered 5,000
Depreciation gt (Allowed earlier)
Reserve for future losses e |
Inczmz:_nen:ax on last 4,000 . ‘ :
.assess : . |
Advance Incore tax paid 20007 - e A J !
Donations to. Mangalore |.-. . MER ST ALOYSIUS COLL o
[ University .~ o - = = SR 0 PG Library | r
‘Legal  charges™" " for | MANGALORE-375 00t ;
.| defending suit for. alleged o " ’ 3
breach . of ~a trading
contract 500
Motor car expenses - 1,060
Net Profit | 6,59,000) . ;
7,12,000 7,12,000
e ¥ 1,000 paid as compensation to an old employee

Gereral expenses includ

whose services were terminated as his continuance in service was considered
detrimental to the profitable conduct of the company’s business and ¥ 200
by way of help to a poor college student. The depreciation is found to be in

excess by ¥ 1,800. Moto
for private use.
11. Mr. Sunil is the owner o

in respect of which for the year ended 31.3.2021 are as below:

r car-expenses include ¥ 500 as motor car expenses

f following house properties in Shimoga. Particulars

Particulars I House | II House III House
(T (%) ()
1. | Actual rent for 12 months | 9,000 1,800 | Dwelling House
2. | Standard rent 7,000 2,000 -
3. | Municipal valuation 8,400 1,800 35,600
4. | Total Municipal tax 840 180 3,200
5. | Municipal ta i
Sunil it L 840 90 -
6. | Municipal tax pai : 90 -
7 Repair[sJ Paid by tenant 1000 500 2,000
8. | Vacancy period Sl month - a
9. |Interest on loan for repaipi '
house pairing 300 600 12,000

Contd...3
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) m he Assessment Year 2021-22.
12, Explain deductiong u House property fort
13. Explain any 10 Perquis; 0c, 80D, goTTA & 80TTB.
ites Under the head Income from salary.
SECTIO -
14. D, Dasgupta, & ey N-¢ (Compulsory) (1x10=10)
r 'c . N H H c
Account for the previou5a Practitioner, furnishes his Receipts and Payments
[ Recelps 20021
Balance b/d N bersﬁ;r?eeens Sat i _
iner’ 28,000 | Mem |
E?@rpmer s fees 1 Medical Association 1,000 |
Visiting fees ,000 " !
- 60,000 | Household expenses 15,000 |
Sale of Medicine ' ini |
: 1,20,000 | Rent of Clinic 23,000
Consultation fees ¢ nd Installment of car |
Salary as a part tj 40,000 | 2" Insta !
s o PAIL Lime purchased [out of total of |
lecturer in a medical five installments] 60,000 i
cgilege " 5,000 | Income tax 20,000 |
G'&.S received from Electricity, Water etc. 4,000 |
patient 10,000 | Car Expenses 30,000 |
Retainer fees from G Medicine purchased 80,000 |
Ltd. 3,000 | Salary to Staff 20,000 |
Interest on Post office Gifts to wife 10,000 |
Savings Bank Account 3,000 | Surgical equipment 30,000 |
Interest on Govt. Balance c/d 8,000 |
Securities 31,000 |
3,01,000 3,01,000 |
Other information:
a) 1/3™ of the motor car relates to his personal use.
b) Medicine costing ¥ 10,000 was taken for the treatment of his son.
c) Depreciation to be charged on Motor car @ 15%, and on Surgical
equipment @ 15%.
Compute income from Profession of Dr. Dasgupta for the Assessment year
2021-22.
K K K KK AR K ok
sT. ALOYSIUS COLLEGE
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the year for the 1 N the Assessment year 2018-19 recovered during

000,
fro

Compute hig Income
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SECTION-A ey O (00Lp
i) anquuesuons. M/\‘-f.-\'ilhllel;‘ r (5x4=20)

WAN A TERN AN 970 and 9rowth of statistics .
. 0 '
Mention the precaution to pg taken pefore using data from a secondary source.

Represent the following data by & Histogram:
— jstogram.

[ Length of Service (years) | -y aber of Employees |
! Less than 5 T .
| o - '- 0 i e )
| B A B %5 |
| L 3
s
| 20-25 ——

25-30 T -

30-35 e :

S—

For the following data relating to the age of 52 employees form a frequency
distribution by taking a magnitude of five as class intervals.

67 34 36 48 49 31 61 34 43 45 38 32
27 .61 29 47 35 50 46 30 46 32 30 33
45 49 48 41 53 3 37 37 47 30 46 50
28 35 35 38 36 46 -43 34 62 69 50 28
44 43 60 39 . il 1

Two housewives, Geeta and Rita, were asked to express their preferences for ten
different detergents by ranking these detergents. The housewives awarded the

following ranks to the ten detergents:

| Detergent | Geeta Rita
A 4 4
B 2 1
C 1 2
D 3 3
E 7 8
F 8 i
G 6 - et
o - Rl o - K
I i N
R s R 1 RS
Correlation Coefficlent, measure, to what extent, the

Using Spear'man’s Rank
preference of the two ladle
Explain what do you un
business decision-making.
List out the significance of measuring dispersion. What are the properties of a

ood measure of dispersion?
! j SECTION -B

5'go together? _
derstand by Probability, 'Dis¢ucs its importance In

(4x10=40)

nship as the
hting the

Answer any FQUR questions:
y be @s necessary for efficient citize

Statistical U]ink]ng will one da izel]
ility to e nment on thi statemen h[gh“g
i Y read and il de si ' ‘ll | [

0, : er
significance of statistics In manad ok
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n e ecenting 0312 1o 'S Staten, 'g attentior than any other
B ¢ aresent wr CONGidas ‘€Ment wi .
methods o7 prt ¢ 675 @ VCatey 3 N with suitable points

) ination o A - 3
10. In an examinal “*aminer supplied the following

information: y ~umb‘cr_'_9f(:hnd'd
- /

"“Marks Obtained | Ates

|_Less than 10% 39 T

Less than 20% L — 95 —
| Lessthan 30% | — 201
_lessthan 40% L — 381 B ALOY:

Less than 50% | —— §45 ——_ PO LiB s o
T T 1 _— ALVIHE S .
| Lessthan60% | — 631 ——— MANUA
lessthan70% | — 675 —~—— |
|__Less than 80% | e s, |
I . = L e
Calculate the median of the P = 98 Marks obtained.

. an and ¢ .
11. Calculate the arithmetic mean he Median of

ing th ¢
below. Calculate the mode using 21€ empirica) g
f Studentg

"Height (cms.) | Numberl 05
130-134 | _,_,——-1—5’-—\4

135-139 ;‘___—_—‘58‘—“%

—ta0qaa | 2——
1a5-140 | &
T 150-154 17 |
T 155-159 113

| 160-164 Lo e
12. The Personnel Manager of 2 m“nu';"Ct”””Q Cccmpany developed a test for job

applicants to predict their producticn rating in the assembly department. In order
to do this, he selects a random sal_‘nple of 10 applicants. They are given the test
and later assigned a production rating. The resylts are as follows:

the frequency distribution given
ation between the two:

Worker | Test Score Pl‘;d uction
| Rating |
A 53 45
B 36 43
C 88 89
D 84 . 79
E 86 84
F 64 66
G 45 ) 49
H 48 48
I 39 43
J 69 76

Fit a linear least square regression equation of production rating on test score.

13. As a result of tests on 20,000 electric fans manufactured by a company, it was
found that lifetime of the fans was normally distributed with an average life of
2,040 hours and standard deviation of 60 hours. On the basis of this information,
estimate the number of fans that js expected to run for (a) more than 2,150
hours and (b) less than 1,960 hours.

SECTION - C (Compulsory) (1x10=10)

14. The number of employees, daily wages per employee and the variance of the
wages per employee for two facrories are given below:

Factory A Factory B
Number of employees 50 100
120 85

Average daily wages per e
; m
Va;r)laalcl:e' %f ;.he daily wages Ele?-y:riéi)yee (%) 9 16
nich factory has g o0 in the distribution of daily wages per
employee? Ireater vartation

P) Suppose in Factory p, ¢, daily wage of an €mP!
Z 120 instead of E4 100, what would be the correc

Kook o ok kKKK

oyee was wrongly noted as
t variance for Factory B?
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FINANCIAL MANAGEMENT AND POLICY

semester I - p .G,

Time: 3 hrs. Max Marks: 70
Answer any FIVE of the followiy, SECTION - A P—

1. What are the variousg types os:‘ﬁnancim decisions?

2. List out the determinantg of cost of capital. 3 A l;“J }:; US COLLEUD

3. What is optimal capitg| Structure? '\M’.NG.:\',_(-)"\:,[;._‘S,-{\S .

4. Explain briefly the net iNcome approach of capital structure.

5. What are the different formg of dividend?

6. A company issues 11% depentures of I 100 for an amount aggregating
¥ 1,00,000 at 10% premium redeemable at par after 5 years. The company’s
tax rate is 35 percent. Determine the cost of debt.

7. From the following information determine the theoretical market value of equity

Answer any FOUR of the following.
8.

shares of a company as per Walter's model.

Earnings of the company
Dividends paid

¥ 5,00,000
¥ 3,00,000

Number of shares outstanding ¥ 1,00,000

Price earning ratio 8

Rate of return on investment 0.15
Are you satisfied with the current dividend policy of the firm? What should be
the optimal dividend payout ratio in this case?

SECTION - B

(4x10=40)
Excel Ltd is considering three financing plans. The key information is as follows:

a) Total funds to be raised 2,00,000

" b) Financing plans

plans Equity (%) Debt (%) Preference (%)
A 100 e o
B 50 50 s
C 50 - 50

c) Cost of debt is 8%; cost of preference share 8%.

d) Tax rate 35%.
e) Equity shares of the face value of ¥ 10 each will be issued at a premium of

¥ 10 per share.

f) Expected EBIT - ¥ 80,000
Determine for each plan the EarINGS per share (EPS). -

Contd...2
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o Skyline software Market | Fa
; i pwe OF 08 A 2 e L value -:,Da;’l\‘-w cOsts
o ep Vi P.,-.r\.l( Ve :,\ 7 8
Tvoe of capité A / el
(i 3,80 000 5
~ (WO ¥
A :/",-\i.-" ] i
Debt 0 p00 i 10,000 a
aresrs { Wt |
' preference | ! ’:"r"r Lr.(‘f‘. {5
" Equity ﬁ"(\‘ﬂ"‘-\'n 12,00,000 13
-gquit 5 00/ ‘
0 16,90,000

"Retained earnings 00
‘ 13,[\'0'{“ cost of capit
: -aprial usi 3
—ciried svertd alusing X1 ATOY
W t
sights L
xrgghts MA NN
t? When would WACC be the same using either

Determine the
a) Book value W .
b) Market value W?'
c) How are they di
ights? _
10. Exp! -Di»fhen‘:f gperatiﬂg income APProach of capital structure theory.
. Explain the ‘
11. T ies U and L pelon to an €quivalent risk class. These two firms
' -
. a;oigzrr:iiaar in every resPe o ‘io:(':‘pany U is unlevered while company L
has 10% debentures 0 30_ a. s The other relevant information
. n and capitalization rates are as follows:

regar'drng their valuatio WFFL
| Particulars L i
"Net operating incomeé (EBIT) 7,50,000 | 7,50,000
Interest on debt (1) — - 3,00,000 |
Earnings to eguity holders 7,50,000 | 4,50,000
“Equity capitalization rate (Ke) 0.15 0.20
Market value of equity (5) 50,00,000 | 22,50,000 |
| Market value of debt (B) i 30,00,000 |
Total value of the firm (V) 50,00,000 | 52,50,000 |
“Implied overall capitalization rate (Ko) | 0.15 0.143 |
Debt equity ratio (B/S) 0 1.33 J

a) An investor Owns 10% equity shares of Company L. Show the

he amount by which he would reduce his

Arbitrage Process and t
outlay through the use of |
b) According to Modigliani an
come to an end?
12. Explain in detail the supremacy of the

the Profit Maximization Objective.

everage.
d Miller, when will this arbitrage process

Wealth maximization objective over

13. Calculate
a) Operating leverage b) Financial leverage ¢) Combined leverage
from the following data under situations I and 11 financial plans A and B.

Installed capacity + 40,000 units
Actual production and sales . 75% of the capacity
Selling price . # 300 per unit
Variable cost . 150 per unit
Fixed cost:
Under situation | . 1,50,000
Under situation II . 3 2,00,000
Capital structure ; e
Particulars “ﬁﬂﬂyf%
Equity R B Srnr T S By
21,0 00
Debt (20% interest) *"1-*65%%002. %d
*“—'--.._'_,,,___f_____- '
2,00,065 " 3,00000_|
s el et N B s Contd...3
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14, As a financial analyst of ECTION - ¢ (Compulsory) (1x10=10)
i o a 13 . i
determine the weighteg avery 9€ electronics company you are required to
ge C

a) Book value weights and b ost of capital of the company using

The following information is av )l Market value weights
aj

’ able:
The company’s pr '
pany’s present bogy Value capital structure is:

Debentures (T 100 per debentUre) 7 800,000
Preference shares ( ¥ 109 per share) . Zroo,ooo
Equity shares (Z 10 per share) 7 1(; 001000

- Z20,00,000
All these securities are traded in the capital markets

Recent prices are: Debentures 3 110 per debentures;
Preference shares ¥ 120 per share:

ST. ALOYS!:
Equity shares ¥ 22 share PG ..
- : MA R ,
Anticipated external financing opportunities are: NGALD RE-575 by

i) ¥ 100 per debenture redeemable at par ; 10 year maturity, 11%
coupon rate, 4% flotation costs, sale price ¥ 100.
i) ¥ 100 preference share redeemable at par; 10 year maturity , 12%
dividend rate, 5% flotation costs, sale price ¥ 100.
iii) Equity shares ¥ 2 per share floatation costs; sale price ¥ 22.
In addition the dividend expected on the equity share at the end of the
year is ¥ 2 per share; the anticipated growth rate in dividends is 7% and
the firm has the practice of paying all its earnings in the form of dividends.
The corporate tax rate is 35%.

T T T T T



